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1. Sam has 23 toy cars. He gives his brother 14 of them. How many toy cars does Sam have left?





2. Sarah has $27 for books and $14 for food. How much money does she have to spend in all?





The way I solved this problem was by ___________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________.


I think this strategy worked because _____________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________.


I _______________________ (agree/disagree) with the strategy my partner used because ___________________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________.

